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TIME 3 TIOURS MM: 75
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I Er af Lif, EEE +J Ed-hiufr EE€, fl-& ffi
w t d-S fil IrrE 'tJ ftfu hnffi HBe, er8 ffi i

a) i )?itrfr Fse-' a AS ria nse rr: ffi | (-5*-i*-i )=t-5

2 Er sf*fJ il6 ir?', ErifoJ ftq ea ue'6 r

w ) 4-;fr, Hrr{' H-5"E, 6 f,u-dT fug u-o& r

T \ \=;Err1. ,ffi, EEi e gga fug gg& 
fc, 3'a . 

=F) il-3r a1 u-ra-a5.,-gc cet (fufdr?t'Lra-,tl
u ) 'm-' 'ir€r' HtE rffi ,-l-du el?5 E-ffu-s rd r

d) 'arryri-g-€refrr' (eE e1 a'o fum+ enl
br) E.rH T-J3 sTtq-.- &l - i (er-e rrc€f
e) dfr fufurfl-eq1 ilfoq-'dE-d & & rrn i F,t d6t(ffi"F-J r-rstl
u{) i q-3_d-€ HEd ffi r

A) 6-qr fiF6r dfr3- dre;fr t rffin1r ffi-E r.tr-,t) (t0x t-10)

d?T-DI
3 Er rS .r'E1 t r (ffifl-' s f5 .66 

5ry5 i'u I
vvt) ffi sfr-lrt, fu nq6 lrif, riE ] I (qror i ryq-s 3 Rrud rra,tr
e) rr€-* dTE A r ,guE r/rqro 3 era uflE)
H) rd uu trre rd r tJHne s iE fup. ps ]'r,y
u r E F]t'Et HtrE ior+ r

d) i s.-e-ffi1 rrsg fui r

u) 'rr+i,r#gd E1 €-a-5 <'& i ITTE ffi r

dT) 'dfr' f,r}Jd E1 ssJ €-'E i F-TE yy€ 
r

u) r_;,e1 u- fdT6rp fu-ffi | (drdil I i2pq-d j e-a e1 fanr+ eni
E) 3fr d5 fa$ a6 ] 1 (ai-ilf, i irnq,T 3 e-a El ldEH rre,il

tl0xi=10)
r -;a fui €d, te-s f€Eo,H q1 * -q-fl+ A3:-

Et )l{rd b- ff,S 1r ne, i r

vrt ) hl-fin"rlra ,5 fu-d-' gfsg F-A' E1 d-sd d-d?r- fii& r

A ) E-rd"i )T-trd Urm E Ui t I

qn
rtf,3 HI
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TT) ( j ) frffi,H ftis e, 6, ffi fe-* ea ye,6 

r

o) afu-' Lril{ fu}r Efri€-d rs HB ilEe I (2x5=10)

g.ET_E

5 1.6 ffi UE-6, e qjd fe6:_
( 1 ) D{+e+-+d }rEte ft-f,g' u-d qr- ge 

r

Q) 'fufr2ri" A sf,J e,ry fsa ea gv€ 
r

(3) A$ i f€Trd'H ffQ* i a' dfr r

(4) ( c ) ftEel{ fti6 e1 €-il} Ery e-rf, ue-€ r

(5) ilTr i ryrr-s 3 sa kd1 i{-flts e-'iie, tt
( 6 ) liffi1 f€-g- fdbfu{r o-ar,/r-r=-se-r ua?
e) dd_HHT lmrfr a f{B €d6 u6?
(8) ry,x &s filil, t | (ar6 a hi'qlq 3 q1a u#t)
(9) H=arqd fdEH €riryr fta- eq gy-8 

r

(to; UaHT fdFn+ €rtry frq ea sygl
(11) t6r-€ H'EIEffir
(12) €-'aE fd-61 {dra"u"iiu- i'l
(13) 3Er-tar, ){Er-fl€r ffi nue ild?
04) ff, 3ffi, garq ffi ffi i que oa?
(1s) a-o ftiB L1*ts i sii oat

(15x2=30)


